Efficiency vs Dxy(PV)

>

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_ttharPU_mkFit_5iter
—e— DQM_tthbarPU_mkFit_5iter_updatedPR111_update
I Efficienc] —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

S\0.0 F
%.018' ........
° . .
9.016 N
9.014
o : :
$.012
© : :
0.01] R 1N
0.008F -y
0.006F
0.004F - s :
0.002F -4 SEPES SEREE
o s ik kT i
g !
@
j| SRR RN L
0% =56 -0 0 10 20 30

TP dz(PV) (cm)




	Contents
	Page 1


